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7 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 459 5717 | #Fhst | 000 ~ o0.00| 1.59 849 Fhst 1.00| 500 ~ 5.00 5717 | Fhst | 500 ~ 500 1.59 849
2 100kN/mM#E#B25 | 1.00 | 000 ~ 020 102.91 |3mZ#BAB| — ~ — — — | 100kN/mM%i#82% | 1.00 | 1053 ~ 11.06| 10291 |3m%E#BZ% - ~ — — —
zhLst 100020 ~ 798| 100.00| FThis | 000 ~ 798| 218 11.64 zhLst 1.00 ] 56,00 ~ 1053 100.00| FnLS | 5,00 ~ 11.06| 2.18 11.64
3 100kN/m##8x5 | 1.00 | 0.00 ~ 0.01 100.12 |3mZE#BAB| — ~ — — — | 100kN/m%#82% | 1.00 | 1053 ~ 1055 100.12 |3m%E#BZ% - ~ — — —
zhLst 1.00 001 ~ 779\ 100.00| Fhis | 000 ~ 7.79] 219 11.70 zhLst 1.00 ] 56,00 ~ 1053 100.00| FnLS | 5,00 ~ 1055| 2.19 11.70
p 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 000 ~ 471 5874 | ThLs | 000 ~ 471 1.81 9.71 Zhst 1.00 | 5.00 ~ 5.00 58.74 | =ns | 5,00 ~ 5.00| 1.81 971
5 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 579 7242 | #nst | 000 ~ 579 1.77 9.49 zhLst 1.00 | 6.00 ~ 6.50 7242 | FnLS | .00 ~ 650 1.77 9.49
P 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 000 ~ 476 59.52 | =hLs 000 ~ 476 1.77 9.46 Zhst 1.00 | 5.00 ~ 5.00 59.52 | #nst | .00 ~ 500\ 1.77 9.46
100kN/ Mm% Z 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ zhs ~ Zzhusn ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ MZ#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Thst ~ Thst ~ ZThst ~ Zh s ~




